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QUESTION 1

How many elements does ARRAY@ contain? 

A. 4 

B. 5 

C. 8 

D. 20 

Correct Answer: C 

 

QUESTION 2

What is the value of QTY when the program ends? 

A. 3 

B. 4 

C. 5 

D. 7 

Correct Answer: C 

 

QUESTION 3

A "divide by zero" error is detected in a program that has the following specified: 

(1)

 The program Status subroutine 

(2)

 File Status subroutine 

(3)

 Resulting Indicator 2 specified on the DIV operation code. Which of the following occurs? 

A. 

Resulting Indicator 2 is set on 

B. 

Program Status subroutine is automatically called 
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C. 

The File Status subroutine is automatically called 

D. 

The default RPG exception/error handling routine is automatically called 

Correct Answer: B 

 

QUESTION 4

What RPG construct allows the compiler to validate the size and type of the parameters passed on a program call? 

A. A data area 

B. A prototype 

C. A data structure 

D. A service program 

Correct Answer: B 

 

QUESTION 5

A CL program declares a database file using the DCLF command and reads records from the file. Which of the following
methods can be used to allow the updating of records in the database file? 

A. Use an RPG program 

B. Use an OPNDBF command 

C. Use a SNDRCVF command 

D. Use an OPNQRYF command 

Correct Answer: A 
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